BEERERERSRE=SILT Ay T GHERAT) BR

BB ERATST B A BERIATRER =
No.| #2722 | sharst A mapa | MEE ) EE f# =
1| 11 BE™ |EXRESTH 12A10H 0.25
2| 1-2 BEm  |HEIRO) 12A108 0.36
3| 1-3 BEM  |HIR(2) 12A108 0.31
4| 1-4 BEm  |HIR(3) 12A108 0.32
5| 1-9 BEM  |HIR(4) 12A108 0.92
6 | 2-2 #BEm |HIR(D) 12A108 0.75
7| 2-3 BEm |HIR(6) 12A108 0.44
8 | 2-4 BEm  |HIRG) 12A108 0.38
9| 2-5 BEM  |HIR(8) 12A108 0.38
10| 2-6 BEm  |HIR(9) 12A108 0.43
1| 2-7 'e™m |BR(0) 12A108 0.58
12| 2-8 |eEm  |BRO1 12A108 0.74
13| 2-9 'eE™m |BRO(2) 12A108 0.73
14| 3-3 '™ |BIRO3) 12A108 0.41
15| 3-5 '™ |BRO(14) 12A108 0.46
16 | 3-6 'e™m |BIRO15) 12A108 0.34
17| 3-7 '™ |BR(16) 12A108 0.73
18| 3-8 | e™m  |BRO7) 12A108 0.72
19 3-9 |e™m |BIR(18) 12A108 0.83
20 | 4-3 '™ |BRO(9) 12A108 0.29
21| 4-4 'E™ |BEIR(20) 12A108 0.32
22| 45 |E™m |BIR21) 12A108 0.36
23 | 5-1 '™ |BIR(22) 12A108 0.33
24 | 5-2 BEm |BEIR(23) 12A108 0.34
25| 5-3 |ET |BEIR(24) 12A108 0.31
26| 5-5 Bem |EXRET8TH() 12A10H 0.32
27| 56 Bem |BEIR(25) 12A108 0.40
28 | 5-7 BE™m |BEIR(26) 12A108 0.43
29 | 6-4 fBem |EXRET8TH(2) 12A10H 0.40
30| 6-5 Bem |ZEXE8TH(3) 12A10H 0.27
31| 6-6 Bem |EXET8TH(4) 12A10H 0.43
32| 6-7 |E™m |BIR(27) 12A108 0.40
33| 6-8 BE™ |EIR(28) 12A108 0.41
34| 7-4 Bem |EXET8TH(5) 12A10H 0.37
35| 7-5 fBem |ZEXEI8TH(6) 12A10H 0.31
36| 7-6 fBem |EXRET8TH(7) 12A10H 0.47
37| 8-4 Bem |ZEXEI8TH(8) 12A10H 045
38| 85 Bem |EXET8TH(9) 12A10H 0.22
39| 86 &/E™M |EXET8TH((10) 12A10H 0.61
40 | 8-7 B/E™M |[EXETSTH(11) 12A10H 0.38




BERRERFRE=SILT Ay lE GHERAT) BR

BB ERATST B A BERIATRER =
No.| *722 | skt A mapa | MEE ) EE i =
41| 9-4 'E™M |[EXRET8TH(12) 12A10H 0.47

42| 9-5 B/E™M |[EXRET8TH(13) 12A10H 0.41

43| 9-6 B/E™M |EXRETSTH(14) 12A10H 0.35

44 | 9-7 BE™m |BIR(29) 12A108 0.43

45 | 10-1 'E™M |EXET8TH(15) 12A10H 0.27

46 | 10-2 B/E™M |ZEXET8TH(16) 12A10H 0.48

47| 10-3 'E™M |[EXRETSTH(17) 12A10H 0.37

48 | 10-4 'E™M |EXET8TH(18) 12A10H 0.36

49 | 10-7 |e™m |EIR(30) 12A108 0.42




